Name:

Graphing Logs and Exponentials F.IF.C.7e Task

Part A: For each of the following functions, identify the y-intercept, asymptote, and end behavior using a graphing
calculator. How do those features relate to the equations?
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Part B: Use what you learned from part 1 to identify the y-intercept, asymptote, and end behavior without the use of a

graphing calculator. Sketch a graph using this information. Once you have completed all the graphs, check your work

using the graphing calculator. (6 2\ 0\51 -0, .C(,Q 0
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Part C: Summarize how you find the y-intercept, asymptote and end behavior of an exponential function from the
equation, and use them to sketch a graph. . (00 oy & Ono ada |svoivoct K w0 = 0

ShEY O meire opl0own aoavd b K okfh end BENONX Upldown Ao i) v K
Part D: For each of the following functions, identify the x-intercept, asymptote, and end behavior using a graphing
calculator. How do those features relate to the equations?
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Part F: Summarize how you find the y-intercept, asymptote and end behavior of an exponential function from the

equation, and use them to sketch a graph.
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